60

[ e oo
A —— ———— ':I_, =3
40 _f 1418 _f 1418 _[ 40
FER 1/30
AY-vE 9H AR ~T=3000
A)-v5 <t 5%=2916
~ Bt& 8 3hfT -y 942
ThIRAR //‘?Uﬁl$)
r———t---- = =i
I % I T
/)
80 ;2;::/// S,
122 Y A 122
7 7. 7,
/’%?Z’J
3 7 /
= Y-y
50 2656 50
2756
d é/ i} 9
E&EE 1/30 i MRER 1/30
150 ,
Mt A ' ByELTER
60
1
N
|| esle B
1500 | o
7L S KR ii =
|
BIF(F4 L. L
MR 1/5
N o [BlETITRE
= 11. IKg AEIE | ROU—rRyI R
AE—FayvrO—5—, AV—FR by THEE(E
P Rng1w %%1m4ﬁTUf%%LWTMU (FAR= 16:97+-79b)
y > O v v T - T 29719y
:_Etz:*i’\ ) 7 A =g Rev. E No.
mm BLW-120HD BLB~120HD




